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1{bpy3na OneHa BacuiiBHa 4747199 TM|  46909570]40 158|030 126 0 0[184,8] 468.8
2[Bapmxkyx Jlronvuna Bononmumupisaa 4732147 T™M| 4690957240 148] 030 117] 0 0]180,6] 4456
3[{I"anan30Bcbka Karepuna Bonoaumupisaa 4857417 TM|  46909574]40 155]0]30 123 0 0{179.9] 457.9
4|KoTtkoB Spocnas AmaronifioBuy 4708881 TM| 4690957840 155|032 119] 0 0[178,3] 4523
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8| Tumoryk Ipuna OueriBHa 4756142 TM| 4690959040 163]0[30 130] 0 0[163,5] 456,5
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1|ApTeMeHKO Maxkcum IetpoBuy 4818408 TM| 4690956840 152] 030 125 0 of 162] 439
2| boBcyHiBCBKa BikTopist BanenTunisHa 4811490 TM|  47202456[40 155030 129] 0 0[192.8] 476,8
3| Bysnbcbka Mapis MuxaiiniBHa 5297129 TM| 46909571 (40 141]0 30 122] 0 0[168,5] 4315
4|Bamenxko Karepuna BacuiiBHa 5117847 TM|  46909573]40 156 0130 121 0 0f161,2] 4382
5|Bepcros Irop SIpociaBoBrY 5144498 TM|  46909567]40 1631030 127 0 of 162] 452
6|Kapnosa Japuna BonoaumupisHa 4718303 TM|  46909576]40 15410130 117] 0 0[180,6] 451.6
7| CBepueBchKa Ipuna BanepiiBHa 4806433 TM|  46909587[40 152] 030 130] 0 0[184.8] 466.,8
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1|dyGueHko €Breii OseroBu4 4710550 T™| 4690987040 144]0 (30 131] 0 01772 4522
2|Kypanosa Banenruna OunekcanyipiBHa 5583602 TM|  46909873]40 1441030 132] 0 0[181,4] 4574
3[Hectepuyk Jmutpiid JleonigoBuu 4747724 TM|  46909876]40 142] 032 130] 0 0[168,8] 440.8
4|HoBaxkoBchkuit IBan IBaHOBHY 4750781 TM|  46909877| 40 1421030 132] 0 0[184,8] 4588
5| Tucsx CsiTiiana BacuniBHa 4688156 TM|  47202470]40 146] 0130 138] 0 0[193,2] 4772
6|Yancpka Karepuna PycnaniBHa 4708471 TM|  46909889]40 150|030 125 0 0{179.9] 454.9
7|eiirac Jmutpo OrnexcaHIpoBHY 4862889 TM| 4690989240 138030 137] 0 0] 173 448
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